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1.

SECTION-A
Choose the correct answer : 1x10=10
W GGl IR Sersat —
W7 T (R S :
et e ae’
T IR g :

_(i}~” Which of the following is not an example of metalloid 7

SR (RAIIUBH 4T T izl Wy 7
e iRl srevcss Satmad o 7
TTETI ATal STqeTi ferfef=a ==

T H ¥ S OTgeT  SEEwi T8 g ?
(@ Si 157 Ge
(c) B Ld) Al

r(ﬁ)/ ~ Which of the following compound is used in soda — acid fire extinguisher ?
TR (LG G 7 Ol Wies Wit Frafe 95s e[ o9 = —

e e TG @irel-enifie st frdiem T T99aR 9 2 —
TR ATY GG O'S1-UE 3R E@H i IR SeEmer S —
= 8 & Rea Dt w1 37am ArsT- o= At R S R 7
(8) NaC! (b) N> CO,

() NaHCO, (d) NH,C!

(}Q/ Decomposition of vegetable matters into compost is an example of which of
the following class of reaction ?

Irifewts wapq <iva At “fadn @AM SR @t il R
TR ?

TReTTS BN A5 A e 29l Tosa @ g Rl Samga 9

St wered 1 e A srwered T A e s w1 w e & -
2
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(a) Endothermic reaction (B~E ermic reaction

e e Sierag e
e R sierad FAfer
FeTErt AT Semad SRR
(c) Both (d) None of the above
WA @o[qq b8 7=
::1;1 BolER WTDE T
T G 8T
gl St § 8 A T8

(iv) When electric current is passed through the coil of a solenoid, then the

magnetic field
5 R PO AT (a7 SRR T, (FF CFd —
mrcﬂﬂ’i@—ma@ﬂwwﬁaﬁwwmj’mmw&@m,ﬁw

aﬁmﬁm#ﬁﬁ%ﬂmaﬁmmwm—
G’ﬂﬁ?ﬁqﬁmﬁﬁﬂiﬁ’fﬁﬁﬁﬁﬁgﬂm@ﬁ%ﬁﬂwmﬂ
increases along the direction of current.
N
(i e A WG W |
%A:;ung the direction of current.
e e frre S
RS eRER e T
forgye e Y R A R SR |
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(¢) remains the same at all times.

SRR TS AR AP
T A AR AT
TR SHISH! T T
wft T O € R g |
(d) becomes zero ESE
T &
. IR
e’ SmA
T B T R |
(v} Which of the following is used to measure the potential difference of a
circuit ? ‘
TR CPILICT I6A1 g oo ey 391 9% 28 —
e il 768 e con fdm armo = |
TTgTafY T ST T SR TS, S Ter S —
Toreft aftae & fenmaia <1 oy & ferg formy AT Fpa T R 7
(a) Ammeter )J/)/ Voltmeter
RN TG
ofeR weefieR
e - deeiw
(¢) Galvanometer (d) Multimeter
QG ACTRES] TEBRER
e e TifeefieR
fieamtar Lt
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@«)/ Which of the following is & conventional source of energy ?
oS SRS (PR IS e B 7

T s ARt g e ?
TR T R afen af e ?
ey & = |1 S w1 IR WA R 7

(a) Wind energy \(b)/ﬁuclear energy
i o

g e e =i
T ST
qgASHA
(c¢) Geo-thermal energy (d)
g
g-©IA *e
e farg i
gaTdia S

[LIj#{L)]
=

(yif) Which of the following
GAE TLEMT (B S

frare @i ew B S FE0 A
MEMETE 96 A1 qEa] # F4 U A
e o & I A W 1 FTE 4 T
(}}f’”"e’hloroﬂomo carbon (b

LTI I

IR I

T TR S

FARTGAR HRA MR
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(¢) Hydrogen V(df)’/ Oxygen
RECK S
REw e LIk
HESEE| CIERED]
FHECEC] AT

(v}'i}Which of the following constitute a food chain ?
RS BLER T (PRI 4w X33 51 I 7

e Geimesfen < X s 7 9
TR 7 = At s, s g 7
e 5 4 2 e sparen o1 oo ey 7
(a) Grass, Wheat and Mango

¥z, 98 9% o

I, I G2 &1

T, T TR e

T, g e T

(_lp/Grass, Goat and Human
41z, =R W Tz

T, R0 938 Iy
T, §7Rm HR) e
HTH, S 941 7

(¢) Goat, Cow and Elephant
RISIeN, o1 I QS

RI9TT, o GRS
=T, W IRy e
U, Mg T weft

B23-GS (EN/AS/BN/BD/HN) 6
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(d) Grass, Fish and Goat

<z, A SF Qo
17, Mg 93] ’ISE "I!I
TN, 1 ST FAT %
o7, A gu gl

M’hi_ch of the following is responsible for change in the curvature of eye
' lenses ?

oo SRS R I TR e Tl RIS = 2
e WY S GIER @™ 5ol s 2 ?
MRS OE T A TEE W SR G AT S ?
R o B T ¥ a3 e e § { i SeEi @ 7

(a) Retina (b) Iris
el Ve i
el TBITS #I191
e s

ey Ciliary muscles (d) Optic nerve
RS T ‘ T HY
e et ATy
geamd At e aERD

1" The focal length of a lens is 1 metre. Its power is
TR 99 T IR 1 1 I, Fel % —
Gl GEATET crem o 1 e, «a el *0 —
g T e ST | fire, A e S -
ot e ) e g 1 e R | T AR -
(a) 05D (b) 1D
15D d 2D
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' 1x10=19
7 Choose the correct answer of the following :
weTo ol e -Teacht aif Sferaat :

e ws Sl @S :
TERTE 2 18 ! e’
fom 8wt I AT

(i) Image formed by a concave mirror is

wRee HITATC sfoe 2ol
TR et afos effefm
T ATFAHT SR Y gEEe] —
et dur g g wfdife g & -
(a) realand diminished
e ¥ AFoe
AR GR IFHS
YT 3T G :
(b) real and enfarged
IR Efde
e gR <
YR AV A
areteen wur faatta

£C)/ virtual and enlarged
e R it

TR G} it
IS A A
T A feafiia
virtual and diminished
PR T RO
TPIE W3 TGOS
URARS AR
Freiet g B

- /AS/BN/BD/HN 8
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@/ If the refractive index of glass is 1.5, then speed of light in glass is
157 feTRelies 1.5 2, 6 TR wfs 23 —

WWNWI.SW,WW?%W—
@Hﬁfﬁﬁ?@qﬁmmm,mﬁﬁﬁdﬁmw
of i 1 aEai 1.5 2, Al Fvwm R TR -

yy/zx 108 m/s (@ 3 105 m/s

(c) 2.25x% 108 m/s (d) 3x10%m/s

(U‘{ Breakdown of glucose into pyruvate takes place in the

e s (b “AiaRTent AR = - EpmE
RPN 3 TR 4 ST AR Ao = — E%
T T TG TR e Her Y -
Tl a1 e & R B R -
(a) Cell cytoplasm ¥ Mitochondria

TR TR RIEWREIRA )

i W HIFE FHOGATT

1T 55A § AR |
(¢) Cell membrane (d)  Golgi body

RIS B DR e

CRITES GG ottt AReTS

it Rt 3 et & §
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(iv) The energy currency for most of the cellular processes is

sl il aftm il 1= w=

R i PR eifF el Tz

i forafrc Ry erverer wi srgrrEn e —
Aftrerie SR el % e et qgr & -

(a) ADP by~ AMP

{(c) ATP @ Co,

(v) The gap between the two neurons is called a CIFeqCl
5T RICPR Te Xy SRR @ 7 — ]
G GIRER IS RIS ive k]

B T IR % 7ex e T ) F57 8 -

" (a) dendrite (bY" synapse
TS TR
(GTEIZ5 et
T A

(c) axon | (d) nerve ending
EEs Hele
SIS FHETS
A fordi ety
GlECIL | <ty @ 3 faw

B23-GS (ENJAS/BN{BD/HN) 10 3050



(vi) Which of the following is a plant hormone ?
A @] dfy e 7' 7

frare i aerpTRR BReT Zaw 7 mom
ot & & i T T g B @ ?
(af)/ Insulin (b) Thyroxin
TR GIESIE S
Fgfer R
(c) Oestrogen (d) Cytokinin
B To 125 iR
BRI RGP
TR T5e FEHA
T BECIEINER]

(vii) The process of giving rise to new individual organisms from the body parts
of many fully differentiated organisms is known as
Rom <ren) RfAE 7% G2 BT (704 (G SRafa A% g «bi 2/ i
Beoifls TR 77~ &R e W -
fon o RME 97 &1 SR (R @I ©F AT W 9T wE &
Tesifa IR efmiiee 0
stor i 13 e s s et g e o e T R
79 W31 % FEd & —

B23-GS (EN/AS/BN/BD/HN) 11 3050



(}J/Regeneration
o G
Tt

A

W ragmentation

e

fns

Wi G
GeA

(viii) Binary fission occurs in

fa-rstem afrm e = -
-Retem aiftr w=aite = -

(b)

(@

aT SrEETa frarRr s S -

T g R -
La{ Amoeba
GRS
RIS
EEIRIE
arefran &
Planaria
TR
wRfE I
e §

(c)

B23-GS (EN/AS/BN/BD/HN)
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(b)

CY)

Budding
TIENEE
(I
T ATERE
P ]
Fission

e 1t et |

fryew 3t o |
FrEEa

forgea

Paramoecium

RIS
IS
Y o
Tt A

All of these

&% SGIARTS |
4% GRS |

¥ mafrEEE
it g
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(ix) An example of homologous organs are

AR, SS9 Of SRR (R —

FAALE, S A0 GAIZA =LA —

g i e e i - —

A 3T 1 0 IR E s

(a) wings of a bird and a bat
BAIRE TESH O AT (TTH |
IRE Tl 93R IR ST |
TH Taft SR EEEs % i

(b) wings of a butterfly and a bat
sifRets oy s AT o |
erE1#{ReA T 3R ISR T |
fafafd 1 SR ST T
s el 3R wwTES % Ud

(¢y wings of a pigeon and hands of man
S A S I O |
WﬂWWﬂﬁ%WWN
wRIFY T AT AT SRETE
T S F T A F T

(d) wings of a parrot and a honey beg
I AT i e AR <1 |
faeifE Gt @3 e T |
Ty’ st T S SR w -
0 T TR N & 9

( I 3050
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(x) Which of the foliowing chromosome sets will determine the male sex ina
human infant ?

T (IR T O IR ST (A < e it #T 7

FITHIE TP R TITSt (il T STeIGTs Canc <J7ed foref A a2
RT3 AR T e Sema e g Sl Y @ 7
1 5 0 1 91 T &1 g A e o e (ergerT) T w1 Frioon T 7

(@) XX By XY
() XO (@ YO
3. Fillin the gaps: | EiE 1x10=10
A 5% R 4 el
R =i
] TP 77 T —
T ? EIR G
(i) ~The hydrocarbon which is the major component of Compressed Natural Gas
. (CNG)is ' .

B9 GBS eRReT CR & S 2R e Ry 7’3 1
b1 TS SR ST alie S RE e g |
TSR o TR WSS W H E SN |
M he product ‘X’ of the following reaction is
werq RiFmitor RiFrers amid <X’ =
e Rty Rt smd oo e
gt et e gar X N ey
forer s1fyfira H 3eES X0 R :
3Fe,, + 4Hy0p = X + 4Hy

B23-GS (EN/AS/BN/BD/HN) 14 -



(iii)~When iron is mixed with nickel and chromium, we get an alloy named

WHW'WWWWWwﬂFIﬂ%W qg o1, IR/ AN
mw%wa 93 SR Ff¥re o wmmt o3 599 4 #AiR, - A
|
|
|G i kel 3R w3 Ty frem 3§ T e TG ST
BR

(i)ﬂe process by which some organisms fulfil their carbon and energy
requirements and yields their stored form of energy is

mammwwwwmww»ﬁﬁw
] DL AF PReF 7S i1 26t *fer e o |

=0T GFT SlfeEE A EE Fera G o I 9. =few
i+t I3 132 O RS e At 1R S IR |

I VR A Rt ety SR e Reei e s s
wIFar TG ATE T R ShiTd! i, SHEEE e e |

isHa g F Sfa wrEw ol St Y a1t Sedl @ U e E ol

T HETRE it i ar e £ | Bl
B
(v) and are the reproductive parts of a flower ';vhich
contain the germ — cells.
i TH QIR TR G R S G (1 e
TS | _ ,
_ UEH N 4T FER G I QLI e e
T | ‘
TraRawRT amt |
i 959 W W § R e et @ € |
B23-GS (EN/AS/BN/BD/HN) 15
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{vi) feedback mechanism regulates the action ofthe ______
firgras srmfes ARt 7 ferat frgme = |
freayes siafs wm a7 farar fergga = |
T T iR IeE o ST T |
fredmmgfd_ drfrmwEmwag |

;(xh)/The _ mirror is used as rear view in vehicles.

STER Preta oinre AT TS 2F |

SIEIA et e oraire gy o] IO W |

TRE TR Ty 3R ATERATE Tl |
R A el ¥ g gl % 9 H R I |

(viii)In electric generator, energy converted from energy to
energy. o

ST @RS Rt <fete e |
fe® (EmIRhE i (T wfere weiles = |
HifetE St alrat wiferafm S |

Rmsfmiswwsia_ waid S d e |

(i%)” The 3™ trophic level of a food chain is . s
Y] WET] GOl BIHI X |
I TR Sor WA 2l I
S Foft ammfy eiRmten sram u
IR e 1 ety ot T & |

(x) When combustion takes place in insufficient air {oxygen) gas
produces.

T S5 SERSS e e IR0 TSR BeoiE 2 |
o ST SHRRerS imtef waw e ST Beoi =7 |
@R e UTTEAT JaTE! A 8wl |
=Y STF bl IURUTE # geT B W 9 I B |
B23-GS (EN/AS/BN/BD/HN) 16 3050



4,  Answer in very short : 1x10=10

S B Teq o

wfs Tfive g whe :

LiL|
e gue e B O
FfraeT g WL

Wong K, Na, Ca and Mg, which one is the least reactive metal ?
K, Na, Ca SiF Mg 3 four® @mbR AlFrs wibiZets 7 2

K, Na, Ca 43} Mg - 47 To=07 @by Adre! 79 (4w 39 2
K, Na, Ca 3R Mg & aere srafy wimifra aafigs @n 7
K, Na, Ca 3R Mg A ¥ S ae@ s wfpa wig & 7

@/Oh heating gypsum at 373 K, it loses water molecule and produces a white
powder. What is the chemical formula of the white powder ?

ol 373 K TRois Tae SR #1ig WY (RFeR @iy 391 ARewIad e

77 | 391 +iTBATE e AR S e |

AT 373 K Sarel Sud TE T W YR GSETIR AT ACTH
Beets T | S SITTRA AFTHAS P G |

foamat 373 Kwﬁﬁ@ﬂaﬁéﬁwﬁwﬂ@ﬁ@w\
ﬁi;:aﬂﬁ 373 Kmﬁﬁ%ﬂﬁaﬁ%maﬁ@ﬂmm%mﬁmqﬁ

ST & | 7 G < T AR e e 7

3050
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Wte the thermite reaction.

5 Fafemaicst it |

25 Fafrf® o | _—
YRt e R |
wrftfe arfiferan =) fafaw |

i Sodij.lm react violently with cold water and immediately catches fire due to
the liberation of a particular gas, Identify the gas :

=TT 4T Stat AR wre em @l Rt TR TS @3 RO 9
O Beot R A] werraeet e w3 wf O | o) Riew o Ry e
1 | |

GG 4hg Sie! wem Tor e et R TR 0 3 Redw 43099 e
SeoTn 2 | T Tl PR wiew W et 1 ¢ig R sy xS |
w'feam wigen g St i e sl wAE TR g e
HmiEl | Sty R TR R s diaret | & i e Rt g |
TSI HTg S I 3 Ty oft & ATl et B 3i awhTe Teuterd B S 2 |
T8 IEa TR 7

p‘a)ﬁt is the least distance of distinct vision of normal eye ?
IR T BT A 8 7 e g R 2
IR T (BI0AR &) =18 G129 e 77 7 2
AR AT J AR U 3 S EHiE S 39wt ¢
[T gie T ge % o Fram gl wn g 7

(v¥f State the S.I. unit of electric charge.
TAIfeT |y S.1 G Tl |
feT SIEE 8.1 G GO |
e Tl S.1L ' R |
fRrer ST T S.L WTHE FE ?

523-GS (EN/AS/BN/BD/HN) 18 3050



(vl 'ho first discovered that moving magnet can generate electric current in 2
- coil 7

S §ERT A9 IEAe Wged @dR R (G (I &l S
Tffee 2

oI TASE AW FeAe i e e 26Tl & e ARER
PR ?

e g o et ¥ fored vraTe 1 g FT TwaT @ FE AR FenH
Torem R o

(viii) What is the approximate percentage of methane in Bio-gas 7

G SIS RTe SR *eie i 2

DL
Giqerd R SR X v 7 @‘%
Ty frgare fadaf s 99 e s8eT ?
Je g # T2 w1 v wvn e Ee g

(ix) What will happen if a person consumes iodine deficient food ?
T o G af SRRe Telwers Y &= 09 cofonl fF 29 *i@ 2
I G G T HECTE TSR 7 &% FC T4 15 705 S1id 2
Hiten | gEgt 9fe 3 et T S st S Jvedn 5 S g 7
afe 13 ARG FEISH I HHl T SIS T8 HT 8, 1 T BT Tl & 7

(x) How would you define 'a ‘gene’ ?
T 0T R Y AR Pt 7
«3fb ‘o« A o e g 7
g “SE B i SR T w8 2

B23-GS (EN/AS/BN/BD/HN) 19 3050



_/5./ Determine true or false : 1x5=5

] 31 SPTeg feief <

@) 3t ey faf e ELE
o0 37 g« &

GE! 1 T =1 Tovia sHifm

iy" In modemn periodic table, elements are arranged in 18 vertical columns and 7
horizontal rows,

S Wige Sl @ 186 i see o 76 e JiEe
AR R |

S e e dmefne 166 Sar W o 76 TR RS
G TR |

e SRR ore i R AT B 18 Wik S o) B 7 SR
WG FIARATE W |

YR Sl wroft §, i w18 e vt A 7 S i s R
TR

i) Precipitation reactions produce insoluble salts,

Ry RS wmiy we Sem a1 -
TS RIFHTS gy o19< Beom 27 |
Tifes I feeemTsamE haty @iy i |
sratrer ST STer T I B R |

&/ Non-metals can displace hydrogen from dilute acids.
Y S 41 TG 2R T RS IR oI | ¢

Y TG (T WIS ZIRTIe fegfere Fa0e «itg |
FuTgE a9 3T & gTeg st Tareenfia S wwd § |

B23-GS (EN/AS/BN/BD/HN) 20 3050



_(,i.v)/ Coliform is a group of bacteria, found in human brain,
Ferge a1 3R T R Sigm Torego Clraram |
@Wﬁmmﬁﬁﬁmﬂﬁ@%wmﬂm oMl Ty |
awferH 5 S ety st weRery e wey |
HID ek Frfa Ty W ey & o o 2 | L)
A
J/{ Roots, stems and leaves of some plants develop into new plants through
vegefative propagation.

g Sfevm Feit, I I #1707 =11 1< Regraers caresifiy smge g e Y
Eull

R ST R, Ty @3s <! R il RRsraem T o Shewm
TR
IR AT T |

ﬁ%ﬁ@,mwwmwﬁmﬁﬁﬁaﬁmﬁmm
FAE |

SECTION -B
/ Write one method for the preparation of bleaching powder. Write two uses of it,

1+1=2

%%“WWNQWEWWQWﬁﬁ%%WHEﬁRW@Wﬁﬁm%ﬁﬁﬁﬁH
%ﬁawﬁmaﬁ@ﬁmvmﬂ$ﬁwﬁ%@Wﬂ|%%¢ﬂ®ﬂ@ﬂﬁ%qﬁﬁﬂ@mm1
ﬁﬁﬁmﬁmﬁmmﬁmﬁﬁﬁﬁaﬁﬁﬁﬂlﬁﬁﬁmﬁmﬁﬁﬁﬁﬁﬁmmﬂﬁﬂ1
ﬁm*aﬁ%mmm@m%m | 55 31 39gm ffaw |
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7.  Find the product of the following reactions : 1+1=12

o T R Bestifire we it |

frtate effimm Besifie o o

fore arfirfRpenadi 3 e e
R

(a) CaCO;.,(S) + HP_O(!) t CO?{SJ

8.  How metallic character of elements changes across periods and groups of periodic
table. Explain. 2
8 Siferpi oty < BfiTs wrediy of @ RIS = IR |

“Iia ifermry +im w3k Iefefone gredy «f fFeit «ffade =g x|
rerd gl & smeet 3R gggl & a1 gt Tored PR ofafda gar @ ¢ avig
FiRr |

9. (a) Reaction between ethanoic acid and sedium carbonate produces a salt,
CO, and water. What is the salt ? i

Sl «fbe a7 o idroa Rt Tere ofb w=, Co, e =it 7
= | o R e 9

BRI SHIRTE R GTIRGH SRR AR T 9P 779, CO, €9 T
A RS 2

Sof RS 37 HieAT FeReR T g S HE R, €O, I
2 Ao | wRaf geT @ 7

Wt 2T S Eifm FTaie 9 AR & T T T CO, 3R e
FeT=1 AT 8 | SCT T g 7

p23-GS (EN/AS/BN/BD/HN) 3050
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10.

11.

B23-GS (EN/AS/BN/BL/HN) 23

(b) Find ‘X": 1

X e ey ?

X' 2 ?

X7 ST ?

X TR 7

CH,CH,0H —~— CH,Co0H Bom
‘E L

Draw the ray diagram for the image formation by a convex lens, when object is
placed at centre of curvature, 2

T (PR G4 S JPTIES T T B 2o e 3R e 3 |
i TGE G S I TR @ 97 2o SR Ak e T |
T e T S firer AR g el 3R AR SRR e e s |
IeICT G o ST 1w R s Wi, s g S v W iRE e |

Decomposition of 2 g of ferrous sulphate crystals when heated generated 1 g solid
oxide and two different gases. Identify the solid oxide and both the pases by
writing proper chemical reaction. 2

O 70 2g (IR ETCES "H6I< RUATe T 1g TG SHIiEe 91F 73 199 (Ies
TesH =Y | emEay e it B it Sk e | @ 9w o
e 311 |

wi% e 2g (A TR TR REEH 906 1g 91 UHIRS 43 R HE0R S
Teoiw 37 | ATieE I R Ry W oEite 9R 13 @O SIS S
4f |

i Breireen 2g S Tiedhe TR SIMEHETE TR 1g TET SIS R A A
Ty @@ |

2g % Tehe & frew B T w0 W 5 ifm @ 1g o1 sTieEs 3R Q)
HeFT-37eT e %1 Seuren WA ¢ | Sty qaEte Aime S e weE
STTSETES AT Gl TEl ) 9g=TAg |

3050



12. What do you mean by Corrosion and Rancidity ? Explain with examples. 1+ 1=2
TSI S QR e e 3wt 2 Swiager TS T |
TSI G GRS Fo700 $ @Rt 2 Swrgast 1 T T |
TG T 3R AeTE g reen 71 gl 7 fafefRly dwmmng 3@ |
HEIROT R Foreper wiftren & av = e 2 Fere At gui IR |

13.  Write four properties of magnetic lines of force, 2
T oI BIfG! o fora |
. L]
(BT AR St 4f Gt 1 @’%
T & Y@t & TR il B ferfa |

Wte two disadvantages of fossil fuels. 2

RIS SR H5! R R
GRS THETR i SR @Te |
eyt $em Y < gt iRl |

15. State any two methods in reducing the problem of waste disposal. | 2
CORTIRI SRR TR YR 751 #1Ts Soap 1 |
ST e et AT 7 s B A |
AT, SRR S a9 eE T |
0l T i s wn s & o et < it 3 o i |

B23-GS (EN/AS/BN/BD/HN) 24 3050



ly./Why should we conserve forests and wildlife ? 2
39 IF 377 2AITR 5 Teawre SR a0 2

T 3% IALTPTIR (1 T A0S 2 9

B &9 UE I Sfia T e ] B =R ? ]
=

--Mha‘t is meant by power of accommodation of the eye ?
59 Teftarer et e 5 g& 7
(BT SARGH TSl TS F @Rl 2
AT TS M geteet A1 gford) ?
I H FHSE &I @ w1 A R

_yx/State two factors does the resistance of a conductor depend.
“¥a18R @1y &3 3931 {51 19 1 |
sfiBR @ty o w1 it w19 Eeat |
ety B HTTE H g o |
Q) Rt 1 Ferfan fam w0 el =eres 1 vl ff e &

19 An electric motor takes 5 A from a 220 V line. Determine the power of the motor
and the energy consumed in 2 hours,

W51 Tafed TH0R 220 V FEHY 11 5 A S AN | HIGR HI0! 9T 2 THS 2 I

2

31 i Sferaa |

93T PReT (B 220 V AEH (*TS 5 A &R G | (RIBAMBT Fel @k 78 U
afbq 79 et #fE @ IE! |

1Y Hifers 920 THA 220 V. SSHEE 5 A 9 @@ | T TR oW 2 v
WG A Siena! g |

g forga Wt 220 V % o 9ia & 5 A Teorge a0 war & | 9w i ol fuifa
SR geT 2 5 5 A g SUGE i qiehierd hieg |
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(28 What is Blood pressure ? What are systolic and diastolic pressures ? What should

21.

be the normal systolic as well as diastolic pressure values of a normal person ?
h+1+%=12

@i Fr 7 e fore i oI R biet e 7 e R el o e oIt
SICHE o B Wil i cRiat T 2
25 B 7 PR aw iR b 9 7 age T TR FEFe o
932 TIRIET BT Widl e 2eq) Bfts 2
& AT W 7 YA AR I TRy g 7 Ar HAi e
SR T AT TR TTaTRRy ReTeR fermnet ddet Sy A ?
THRIEE 1} 7 VA T ain o g g ? TS 1 A T A
SR T B ?

OR / (%31 / S / TET/ YT

What is lymph ? How does it differ from plasma ? What are their functions ?
“+h+1=2

T R 7 SIS T3 B (A ~R 7 SRR IR e £ 2
BRI 7 BT @ 9fS B 4w 7 kR R e fE 2
FrRaTI T 7 EeHIRgE 39 TR IE 7 SRR FERERT A 7
T T s s e A PRI R TR I R ? __’%

What is a neuromuscular junction 7 How does a nerve impulse travels from one

part to the other part of the body ? Y+ 1%=2

FACR T o % qq <G5 TR AT S AL TR (I SRS

™7

e v 1 7 AR 99 S (U= ST S el e 29

"7

fargm iy ST AT 2 g AFE FTEEIEEE T AA SR

T AE gl ?

i g T 3 7 S TR BT HeTE T 6 T I § R R 7 g E 7
OR /7%3l / <3l / T / ST
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23.

B23-GS (EN/AS/BN/BD/HN) 27

Draw a neat labelled diagram of a nerve cell and state its function, Y+Y=1

RLF A5 94 2R ik B st =1 o 31 35 541 |
G515 FRTFIET 95l AR%E B b s w3t g o1 a5 31 |
T AT IR S T SIET a1 S i T v T |

Give the differences between binary fission and multiple fission. 2
fa-Rreres s Tefretemy T «iidzs ot |
fa-Rrerem «m TReremT Foy 14w @3S | EOE
AT T ST e A T R =
Togiea oK agEsT A i Trse iR |

OR /#iZ3l / &3} / an / Al
State the advantages in plants raised throﬁgh vegetative propagafion. 2
s R ~imfed Al Serie 3t Sfen izg ceas 1 1% et oo am e
4T |
i e <RS TR Sesive <1 SR TR oG e e R Nl T
A | |
TR ST SRS g SEHIS T ST A1 31 1 5! g e |
s wei 3 g e T el & - gaard g & ffen |

What factors could lead to the rise of a new species ? 27

51 T el Besifed A 3 fF i iz @i 2
q3fl T ewifen Serifiay weg & 6 Plas Sueed] o ?
R e g SR e a1 A SRR R g ¢
I G = 9 v el F I A wERh E 7

OR /%3t / Sl / T / 3ol

3050



If both parents as well as the children are found to possess light eye colour then,
according to you the light eye colour trait is of dominant or recessive nature ?

Explain why or why not. 2
i Prg-Tig I &1 (SSTEN HGA s 53 #ATee 39 92 P (TR
B #iTea 3991 DI CARBT! com qrs sl ¢ %-ereifl FeR 29 7 e
= 31 T ! 3 |
T Prel-arel RREE N SItR ASIER G 2ed 39 72 I SRA G
o 9efq bifdias TEaREh comR Tre @i W T-2eid FeiEE TW 7 Gl
= = 4 SR |
SR ot - e wEeY ST R e e Sy aive e Qe R
ST 7 HIRT SIS T S Se |
o S (e 7 = AR B A v 1R @ ) o e @ adfd %
T T T SEUT WIS 2 1t ST 7 v Hifn i sveran w6 ?

!_E"‘El

55

24, (a) Comment on the electrical conductivity of ionic compounds in solid and
molten states. 1+1=2
ST (T i e R Reifere s R «fvalider ers sics
101
Sy @ 0 o w3 Reifre sy R «fRRrem R i
T |
s S 6 v e ferA i R SR T S iR |
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(b) How electrolytic reduction is used for the extraction of metals ?

41g e ot e e afe e a9
i Fermrcer Rigpe Rt »rafs Rreim 3em e 2

N ?

g Freereivr & fire arvaett st = v 39 S e 7
EgE
O]

15/ An object of size 7 cm is placed at 27 cm in front of a concave mirror of focal
length 18 cm. At what distance from the mirror should a screen be placed, so that
a sharp focussed image can be obtained ? Find the size and the nature of the

image. 3
18 cm 'R (T9/7 oo ALAIN G347 TGS 27 om [A9S 7 cm HHEE 98 <5f 941
TR | AP ©R R TR A G4 1R O 8 i e el ot
IR T 7 &foRes ey S epfs a3t |

G0 lﬂcmwmﬁmﬁwmﬂcmm7cmﬁﬁf@ﬁﬂﬁﬁ
R TR | D (I TS VRTG G0 I AT FABCS TATSIE oA 28T G
ifefm siredr A 7 LReRTeR SR R s ey e |

7 ¥y wEuURR ARY AR g 18 A B'EM ST A T S ST
Remer 27 A AeEE R W@ ) TG 9EE \EER g St
7 cm GTES 1 HE RiE 18 om BiE T F TRl a1 oo % 99 27 om gl R
m%lmﬁme@mmqﬁﬁr@%mwa@mmmwﬁﬁam
A 1 TR 7 I S ST AT Wl T HI |

OR /53] / S9T / e / A=

0
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axis of a convex lens of
lens is 15 cm. Find the
3

A 2 cm tall object is placed perpendicular to the principal
focal length 10 cm. The distance of the object from the
nature, position and size of the image.

2 om THOR T @Bl 10 om ¥'IE TR e (IR G LY T TROME T
2o | (P 191 TR T 15 o | e e, S S et e i
2 cm TR <o T 10 cm GERER TR @Il SEE @0 TU ORS AA
TSI AT R | (6T (RO R Y 15 cm | RSN g0 SN 69
SR i S |
10 ¥ w'ohrE ST T wE S e sty W 2 A T B e
T 2frR ReR S} | ST S ety AT 15 A | W AT,
yrafy 3w e fagH |
1 2 om o i 10 om e g & Pt et o % O 31 % Siea @1 | =8
ﬁﬁﬂ%fﬁ 15 cm%uuﬁrﬁaﬁuﬁ,%ﬁﬁmmmﬁm [
=

26. What is the full form of ‘ATP’ ? Why is it called as the ‘energy currency’ for most
of the cellular processes 7 How do ‘ATP’ molecules produced ? What is an
‘Endothermic process’ ? How do ‘ATP” molecules used to drive these processes ?

Yot Y%+ 1+Y%+%=

‘ATP* T 5wiefareht 5 7 ftels! cplfin alferia e 2 (I 91 e 3@ &

@il = 59 7 ‘ATP’ - 9 SRR @R Seeifirs 2 2 Smaid afem 5 2 <ATP?

SRR TS 2 SR T (RS (P TR 531 25 7

‘ATP’ - 97 5o Folfts 1 7 PRl (eI el oy qfbee i et

T T @ 7 ATP - &7 TR FoiF Teife = 2 s ofem § 2 ATP

ST QAT ST ST AR O ST T2 T2 7

ATP F 317 mrga T 7 Tiraiter et farariRuf semar sat Rrafemft g wfk

e AT ST S EAE 7 CATP T g AR dmfi o fag e

Tergri=mn =1 7 Awmmmﬂmwmm

S ?

w7 E S 7 ST I N o T T e g Fed E 7

TR W F R 7 59 WA 5 aiene A AN e 1 I S g ¢
OR /%3 / <13 / T / e
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What are the methods of excretion used by the plants to get rid of the excretory
materials ? 2+1=3

How do the strategies differ from that of the animals ?

BomTs SHIERT Y1 T R SRece 5 fr frmrm afimnR e 3 2 @@
&IPS 2T TN PP TR ST ATale 1 (FPTLE (RS (Tl 2

Bormre ~midaR (I T Sihew oy Bfew R s formm afdrat Se F@ 7 @
SIfRFITS efEtal A CFPEPTIR ST ST 31 (T (ITE ey <37 ?

T fegren gareRtEE Yy 9 AREs W o OReE Rt w7 9
Teranfrm sTerAT S R SRR e weied 6 ?

mwﬁﬁﬁwqﬁ%ﬁmwﬁnmﬁhﬁﬁmmww% ? 3 gfFaar
sl a A
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